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P lies on the hypotenuse( #}#& )AB of a right-angled triangle( = H A=A )

ABC. Let S=AP?+BP?, then which of the following is the correct statement?

A. There are unlimited points P so that S<2CP?.

B. There are limited points P so that S<2CP?.

C. P is the midpoint of AB, or one of the endpoints of A or B coincides with the
other if and only if S=2CP?.

D. Every point P lies on a straight line AB, there exists.
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10. Refer the diagram at the right. In a right-angled trapezoid ( E 52 ) ABCD,
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12. Letaand b be real numbers that satisfy 5a’+2b*+1=6ab+4a—2b. Determine

a+hb.
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